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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 4.11 51.44 | =nWS | 000 ~ 411 2.04 10.34 st 1.00 | 6.00 ~ 5.00 51.44 | =hS | 5.00 ~ 56.00 | 2.04 10.34
2 100kN/mM%#BZ 5 -~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.18 64.53 | FnLSY | 000 ~ 518 1.99 10.06 st 1.00 | 5.00 ~ 6.30 64.53 | TSt | 5,00 ~ 6.30)| 1.99 10.056
3 100kN/mM%E#BZ 5 -~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 533 66.47 | FnLUSY | 000 ~ 533| 1.96 9.92 st 1.00 | 6.00 ~ 6.40 66.47 | TSt | 5.00 ~ 6.40| 1.96 9.92
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.75 85.25 | #nS | 000 ~ 6.75| 1.78 9.00 st 1.00 | 6.00 ~ 820 85.25 | #ns | 5.00 ~ 820 1.78 9.00
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 712 90.48 | =nWS | 000 ~ 712 1.84 929 st 1.00 | 6.00 ~ 9.10 90.48 | =n4 | 5.00 ~ 9.10| 1.84 9.29
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 685 86.64 | =nS | 000 ~ 685 1.83 9.25 st 1.00 | 6.00 ~ 8.50 86.64 | Th4 | 5,00 ~ 850 | 1.83 9.25
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 712 90.49 | =nWS | 000 ~ 712 1.84 929 st 1.00 | 6.00 ~ 9.10 90.49 | =h4 | 5.00 ~ 9.10| 1.84 9.29
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 723 91.97 | =S | 000 ~ 0.00| 1.756 8.83 st 1.00 | 6.00 ~ 9.20 91.97 | #h4 | 5.00 ~ 920\ 1.75 8.83
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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